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ELERS 21 PRSI PRSI RTR F35R Eidp=t HFENZA! itk FERE | &
100084210000797 T 020204 SF =[H%! SERE EER AL ZEmIH 600.4
100084210007751 BAE 020204 ERF =[8%! SERE IEEmERLAL FET 580.6
100084210005262 B & 020204 SRiF E{=L:] =EFRE IFEMERLA e 5774
100084210000794 R 020204 T E=k eERE IFEmERLA FET 574.2
100084210000798 = 020204 TR E=k] ESEILey EER AL ZEmIH 568.4
100084210005562 &85 020204 ERF =[8%! eERE EEmERLA FoET 557
100084210005035 57 020204 SRiF E{=1:] =EFHE IFEMRLAY eI 548.8
100084210010510 =)} 020205 S E=k eERE IEEMERLA FoET 597.6
100084210007434 KB 020205 [ | =i E{=1:] =EFHE IFEMERLA ZEmI 5924
100084210011434 FK*IK 020205 S =R eERE IEERFAL TELIHK 579.4
100084210009850 PE 020205 S E=k] cERE EER AL ZEmIH 567.2
100084210009510 FE 020205 S E=k] eERE EEMERLA FET 559.6
100084210009286 i v 020205 Pl =[H% SERE EER AL ZEmIH 549.6
100084210009003 ** 020206 EfrR S =[8% eERE IEEMERLAL FETH 564.6
100084210007979 2R 020206 ERBR 7 =HH =ESE IFEMRLA ZEmI 552.8
100084210009573 S 020206 EfrRZZF =[8%! eERE IEEmERLA FET 550.8
100084210006312 =S 020206 EfRRZF =[8%! SERE EER AL ZEmIH 548.8
100084210000808 EX* 1 020206 Eleitl=a =[8% eERE IEEMERLAY FET 546.6
100084210009364 BR*3L 020206 EFrRZF =HH =EFHE IFEMERLY eI 543.8
100084210003791 15 020206 EfrBR S =[8%! eERE EEmERLAL FET 532.2
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EHRS 24 IR I3 BIRMEWETR F3538 EidBH BASENRI ERitE GEMGR | &
100084210003725 e 120100 EERFETE 2B SEGE IEEAIFAL FTEL 627
100084210000705 B 120100 BERZETE 2B SEgE IEEmEHL FEWITR 615.6
100084210007513 e 120100 EERFSTIE 2B SEgGE IEE G FTEL 613
100084210000707 T 120100 BERNZETE 2B SESE IEEmEHL FEWITR 603.2
100084210010833 =R 120100 EERFETE 2B SEgE IEEAFAL FTELK 602.8
100084210011254 FR*ZR 120100 BENFE5TE E=E SESE EEMRF AL FEIK 602.6
100084210007512 1w 120100 EERFESTIE 2B SEGE IEEAFAL FTETK 597.2
100084210005324 e 120100 BERNZETE 2B SESH IEEmEHL FEWITR 597
100084210000679 =8 120100 EERFETE 2B SEgE IEE G FTETK 591
100084210010699 xR 120100 BERNZETE 2B SESH IEEmEHL FEITR 581.8
100084210005128 £E 120100 EERFETE 2B SEgE IEEAFAL FTETTK 579.6
100084210010306 K 120100 BERNZETE 2B SESE IEEmEHL FEIITR 577
100084210000680 =+ 120100 EERFETE 2B SEgE IEEEF AL FTETKI 576.2
100084210011537 X+ 120100 BEMNFS5TE el LEFE IEERFH FET 574.4
100084210007113 Z— 120100 BERNFE5TE £H#) SEgE IEEAFAL FTETK 571.6
100084210009612 XU*E 120100 BERZETE 2B SESE IEEmEHL FEWITR 5714
100084210000688 XU*fE 120100 EERFETIE 2B SEgGE IEEAFAL FTELK 571.2
100084210008602 g7 120100 BERZETRE 2B SESE IEEmEHL FEWITR 569.6
100084210010119 B 120201 LAt 2B SEgE IEEAFAL FTET 618
100084210011290 e RE 120201 KAt 2B SESE IEEmEHL FEWITE 613
1000842100007 14 B> 4t 120201 =F =[H%! 2ERE EER AL ZETTHY 608.6
100084210000713 e 120201 KAt 2B SESE IEEmEHL FEITR 606.6
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100084210011735 5K 2 120201 STF =[H%! 2ERE EER AL ZETTLY 596.8
100084210000712 e 120201 2tEF el LEFE IEERH TR 596.6
100084210008573 EiSe 120201 LAt 2B SEgE IEEAFAL FELK 592
100084210007516 El 120202 EE 2B SESE IEEmEHL FEWITR 647.8
100084210007947 wE 120202 fER 2B SEgE IEEAFAL FTELK 613.2
100084210008201 3k~ 120202 EE 2H% SESH IEEmEHL FEIITR 611
100084210003838 K5 120202 ER 2B SEGE IEEAFAL FTETK 609
100084210007955 == 120202 EE 2B SESH IEEmEHL FEWITR 603.2
100084210011078 Avaiiz) 120202 TR 2B SEgE IEE G FTETK 597.8
100084210005327 Ea g 120202 lEE 2B SESH IEEmEHL FEITR 595.6
100084210007956 =94 120202 lER 2B SEgE IEEAFAL FTETTK 594.2
100084210003837 B 120202 EE 2B SESE IEEmEHL FEIITR 584.6
100084210007816 BB 120202 ER 2B SEgE IEEEF AL FTETK 573
100084210000718 T 120202 EE 2B SESE IEEmEHL FEMITR 5728
100084210010688 FEXHHh 120202 ER £H#) SEgE IEEAFAL FTETK 572
100084210010689 =R 120202 EE 2B SESE IEEmEHL FEWITR 567.2
100084210000722 R 120204 RARZFREE =[H%! 2EFE EER AL ZETTHY 620
100084210000723 R 120204 RAZFTREE 2B SESE IEEmEHL FEMITR 617.6
100084210010506 S 120204 RARZFREE =H%! =EFRE EER AL ZETTHY 581.6
100084210010424 =* 120204 RAZFREE E=L2 SESRE IEEMRH AL FEIK 5754
100084210004580 H* 120204 RAZFREE =[H% 2ERE EER AL ZETTHY 566
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